Construction division. Advice for giving credit to contractors/suppliers.

| Sl. No. – site bills register | o o | 189 | | Date Regi | - site bi | lls | 19/8 | 3/23 |
|---------------------------------|-----------|--------|-------|--------------|-----------|--------|-------------------|------------------------|
| Company Name: | MR | up | | Site: | | | NE | hH. |
| Name of Contractor | | Soon | wor | | | | | |
| Nature of work | Co | | utti | | work | | slock, | |
| Work done | From Da | | 2: | (1) | 1 T | o Date | 18 | 8 23 |
| Sl. Villa/Flat/block no. No. | Qty | | Rate | | Units | Amou | nt | Contractors bill no |
| 1. 5" Dia 9" Beo | m -1 | 6 - | 3 | 15/- | Nos | . 60 | 000/- | |
| 2. 5" Dia 6" slab | -5 | 3- | 3 | 00/- | Nos | | ,900/- | - |
| 3. 4" Dia 9" Bea | | | 35 | 0/- | No | 1 | 100/- | |
| 4. 4" Dia 6" 86 | 16 - de | 20 - | ನಿ | 75/- | Nos | . 5, | 500/- | - |
| 5. Core Cutting | | | | | | - | | |
| 6. work in | | | | | | - | | |
| H-901, 902 | | | | | | - | | |
| 903, 905, 90 | 6, | | | | | | | |
| 907, 908 X | | | | | | | | |
| 709, | otal: | | | | | 75 | 100/ | |
| | □ YES V | NO. | | GST | bill requ | | 100 /~ □ YES □ | NO. |
| Measurement & | Require | ed | | Meas | urement | & | Enclos | ed |
| | □ Not req | uired | | | ate sheet | : | □ Not en | closed |
| PO/WO no. | | | | PO/W | O date: | | | _ |
| Remarks: | | | | | | | | |
| | | | | | | | | |
| | | | | | | | | |
| | | | | | | | | |
| | | | | | | | | |
| Approved by Project Manag | er | Approv | ed by | Design | Team | Appr | oved by N | M.D. |
| Date: \ 19 8 | 23 | Date: | | | | Date: | | |
| Sign: | | Sign: | | | | Sign: | | |

Notes: 1. This advice must be sent within 7 days of completing work. 2. This form can be used for certifying labour bills, bills for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement sheets are not required for turnkey jobs where guideline rates are clearly given.

Bill for Equipment Allowance

Md Sarvar, H.No - 11-1-624/8/7/a, Chilakalguda Hyderabad.

Date: 19.08.2023.

In favor of:

MRPLLP.

Project / Site:

Nilgiri Heights.

Location:

Pocharam.

Type of Work:

Core Cutting Work.

Towards:

Allowance for Equipments

| S No. | Description | Amount |
|-------|---|--------------|
| 1. | Brief description of work done: Towards Completion of | |
| 1. | Block - A - Flat No - A - 901 to 903, 905 to 909 - Core | Rs. 14,040/- |
| | Cutting Work. | |
| | Total Amount = 35,100/- | |
| | Work done from date 27.07.2023 to 18.08.2023 | |

Amount in words: Fourteen Thousand and Forty Rupees Only.

| Sign: | |
|-------|--|

Bill for Equipment Allowance

Md Sarvar, H.No - 11-1-624/8/7/a, Chilakalguda Hyderabad.

Date: 19.08.2023.

In favor of:

MRPLLP.

Project / Site:

Nilgiri Heights.

Location:

Pocharam.

Type of Work:

Core Cutting Work.

Towards:

Allowance for Equipments

| S No. | Description | Amount |
|-------|---|--------------|
| 1. | Brief description of work done: Towards Completion of | |
| | Block - A - Flat No - A - 901 to 903, 905 to 909 - Core | Rs. 14,040/- |
| | Cutting Work. | |
| | Total Amount = 35,100/- | |
| | Work done from date 27.07.2023 to 18.08.2023 | |

Amount in words: Fourteen Thousand and Forty Rupees Only.

| Sign: |
|-------|
|-------|

Bill for Labour Charges

Md Sarvar, H.No - 11-1-624/8/7/a, Chilakalguda Hyderabad.

Date: 19.08.2023.

In favor of:

MRPLLP.

Project / Site:

Nilgiri Heights.

Location:

Pocharam.

Type of Work:

Core Cutting Work.

Towards:

Labour Charges

| S No. | Description | Amount |
|-------|---|----------------|
| 1. | Brief description of work done: Towards Completion of | |
| | Block - A - Flat No - A - 901 to 903, 905 to 909 - Core | Rs. 14,040/- |
| | Cutting Work. | 130. 1 .,0 .0, |
| | Total Amount = $35,100/$ - | 4 |
| | Work done from date 27.07.2023 to 18.08.2023 | |

Amount in words: Fourteen Thousand and Forty Rupees Only

| FSTIM | FSTIMATE SHEET | | | | | | |
|----------|--|--|-------------|-------|-----------|----------|-------------|
| Compar | Company Name: | MRPLLP | Drenard ht. | | Viion Doi | | |
| Project: | | Nilgiri Heights | Topara of | | vijay raj | | |
| Work D | escription: | Block - A - Flat No - A - 901 to 903, 905 to 909 - Core Cutting Work | ork | | | | |
| Contract | Contractor Name: | Md. Sarvar | | | | | |
| Date: | | 19-08-2023 | | | | | |
| | | | | | | | |
| S.No. | 7 | Item Description | Ouantity | Units | Rate | Amount | Grand Total |
| | Block - A - Flat No - A - 901 to 903, 905 to 909 - Core Cutting Work | | | | | | |
| | | | | | | | |
| | 1 Core Cutting Work - A - 901 | 5" Dia in 9" Beam | 2.00 | No's | 375.00 | 750.00 | |
| | | 5" Dia in 6" Slab | 7.00 | No's | 300.00 | 2,100.00 | |
| | | 4" Dia in 9" Beam | 4.00 | No's | 350.00 | 1,400.00 | |
| | | 4" Dia in 6" Slab | 2.00 | No's | 275.00 | 550.00 | |
| | | | | | | | 4800.00 |
| | 2 Core Cutting Work - A - 902 | 5" Dia in 9" Beam | 2.00 | No's | 375.00 | 750.00 | |
| | | 5" Dia in 6" Slab | 7.00 | No's | 300.00 | 2,100.00 | |
| | | 4" Dia in 9" Beam | 3.00 | No's | 350.00 | 1,050.00 | |
| | | 4" Dia in 6" Slab | 3.00 | No's | 275.00 | 825.00 | |
| | | | • | | | | 4725.00 |
| ,,, | 3 Core Cutting Work - A - 903 | 5" Dia in 9" Beam | 2.00 | No's | 375.00 | 750.00 | |
| | | 5" Dia in 6" Slab | 7.00 | No's | 300.00 | 2,100.00 | |
| | | 4" Dia in 9" Beam | 2.00 | No's | 350.00 | 700.00 | |
| | | 4" Dia in 6" Slab | 3.00 | No's | 275.00 | 825.00 | |
| | | | • | | | | 4375.00 |
| 4 | 4 Core Cutting Work - A - 905 | 5" Dia in 9" Beam | 2.00 | No's | 375.00 | 750.00 | |
| | | 5" Dia in 6" Slab | 00.9 | No's | 300.00 | 1,800.00 | |
| | | 4" Dia in 9" Beam | 3.00 | No's | 350.00 | 1,050.00 | |
| | | 4" Dia in 6" Slab | 2.00 | No's | 275.00 | 550.00 | |
| | | | - | | | | 4150.00 |
| | | | | | | | |



| 5 Core Cutting Work - A - 906 | 5" Dia in 9" Beam | 2.00 | No's | 375.00 | 750.00 | |
|--|--------------------|------|------|--------------|----------|-----------|
| | 5" Dia in 6" Slab | 00.9 | No's | 300.00 | 1,800.00 | |
| | 4" Dia in 9" Beam | 3.00 | No's | 350.00 | 1,050.00 | |
| | 4" Dia in 6" Slab | 2.00 | No's | 275.00 | 550.00 | |
| | | • | | | | 4150.00 |
| 6 Core Cutting Work - A - 907 | 5" Dia in 9" Beam | 2.00 | No's | 375.00 | 750.00 | |
| | 5" Dia in 6" Slab | 9009 | No's | 300.00 | 1,800.00 | |
| | 4" Dia in 9" Beam | 3.00 | No's | 350.00 | 1,050.00 | |
| | 4" Dia in 6" Slab | 2.00 | No's | 275.00 | 550.00 | |
| | | • | | | | 4150.00 |
| 7 Core Cutting Work - A - 908 | 5" Dia in 9" Beam | 2.00 | No's | 375.00 | 750.00 | |
| | 5" Dia in 6" Slab | 7.00 | No's | 300.00 | 2,100,00 | |
| | 4" Dia in 9" Beam | 2.00 | No's | 350.00 | 700.00 | |
| | 4" Dia in 6" Slab | 3.00 | No's | 275.00 | 825.00 | |
| | | • | | | | 4375.00 |
| 8 Core Cutting Work - A - 909 | 5" Dia in 9" Beam | 2.00 | No's | 375.00 | 750.00 | |
| | 5" Dia in 6" Slab | 7.00 | No's | 300.00 | 2,100.00 | |
| | 4" Dia in 9" Beam | 2.00 | No's | 350.00 | 700.00 | |
| | 4" Dia in 6" Slab | 3.00 | No's | 275.00 | 825.00 | |
| | | | | | | 4375.00 |
| n Words Thirt First The Thirt | | | | | | |
| III Wolds Thirty rive I nousand One Hu | Ingred Kupees Only | | | Total Amount | | 35,100,00 |



| Company Name: | Medito | | : | | - | | | |
|---------------------------------|--|--------------|---------------|-----------|-----------|----------|-----------|------------|
| | MAN LUI | Prepared by: | > | Vijay Raj | + | | | |
| | Nilgin Heights | | | | + | | 1 | |
| Work Description: | Block - A - Flat No - A - 901 to 903, 905 to 909 - Core Cutting Work | /ork | | | | | | |
| Contractor Name: | Md. Sarvar | | | | | | | |
| | 19-08-2023 | | | | + | | | |
| Items Hand | 7 - Z | 4 | \rightarrow | 4 | + | | | |
| Block A - Flat No - A - 901 to | OO3 OO5 to OO0 Care Cutting Wall | Length | Width | Height | No's | Quantity | Units | Total Head |
| DIOCK - A - FISH NO - A - 701 K | | | | | \dagger | | | |
| 1 Core Cutting Work - A - 901 | 5" Dia in 9" Beam | 1 00 | 901 | 1 00 | 0000 | 0000 | No.'s | 000 |
| | 5" Dia in 6" Stab | 00.1 | 8 5 | 20.1 | 2 6 | 200 | No. | 200 |
| | A" Dis is O' Boom | 1.00 | 3.1 | 1.00 | 37. | 00.7 | SON | 30. |
| | | 1.00 | 1:00 | 1.00 | 4.00 | 4.00 | No's | 4.00 |
| | 4" Dia in 6" Slab | 1.00 | 1.00 | 1.00 | 2.00 | 2.00 | No's | 2.00 |
| | | | | | | | | |
| 2 Core Cutting Work - A - 902 | 5" Dia in 9" Beam | 1.00 | 1.00 | 1.00 | 2.00 | 2.00 | No's | 2.00 |
| | 5" Dia in 6" Slab | 1.00 | 1.00 | 1.00 | 7.00 | 7.00 | No's | 7.00 |
| | 4" Dia in 9" Beam | 1.00 | 1.00 | 1.00 | 3.00 | 3.00 | No's | 3.00 |
| | 4" Dia in 6" Slab | 1.00 | 1.00 | 1.00 | 3.00 | 3.00 | No's | 300 |
| | | | | | | | | |
| Core Cutting Work - A - 903 | 5" Dia in 9" Beam | 1.00 | 1.00 | 1.00 | 2.00 | 2.00 | No's | 2.00 |
| | 5" Dia in 6" Slab | 1.00 | 1.00 | 1.00 | 7.00 | 7.00 | No's | 7.00 |
| | 4" Dia in 9" Beam | 1.00 | 1.00 | 1.00 | 2.00 | 2.00 | L | 2.00 |
| | 4" Dia in 6" Slab | 1.00 | 1.00 | 1.00 | 3.00 | 3.00 | L | 3.00 |
| | | | | | | | | |
| Core Cutting Work - A - 905 | 5" Dia in 9" Beam | 1.00 | 1.00 | 1.00 | 2.00 | 2.00 | No's | 200 |
| | 5" Dia in 6" Slab | 1.00 | | 1.00 | 7.00 | L | | 00.9 |
| | 4" Dia in 9" Beam | 1.00 | | 1.00 | 4.00 | | L | 3.00 |
| | 4" Dia in 6" Slab | 1.00 | | 1.00 | 2.00 | | \vdash | 2.00 |
| | | | | | | | \perp | |
| 5 Core Cutting Work - A - 906 | 5" Dia in 9" Beam | 1.00 | 1.00 | 1.00 | 2.00 | 2.00 | No's | 2.00 |
| | 5" Dia in 6" Slab | 1.00 | 1.00 | 1.00 | | | _ | 90.9 |
| | 4" Dia in 9" Beam | 1.00 | 1.00 | | | | s,oN C | 3.00 |
| | 4" Dia in 6" Slab | 1.00 | 1.00 | | 2.00 | | \sqcup | 2.00 |
| 6 Core Cutting Work - A - 907 | i si C. Room | 001 | 1 00 | 1 00 | 2 00 | 200 | No.'s | 8 |
| D | 5" Dia in 6" Slah | 100 | | | L | | \perp | 8 00 |
| | 4. Die in Q. Boom | 1 00 | 8 | L | L | | \perp | 200 |
| | | | | \perp | 1 | | \perp | 000 |
| | 4 Dia in 6 Siab | 5.1 | | \perp | | | \perp | 7.0 |
| Core Cutting Work - A - 908 | 5" Dia in 9" Beam | 1.00 | 00.1 | 1.00 | 2.00 | 0 2.00 | No's | 2.0 |
| | 5" Dia in 5" Sah | 1.00 | | | L | | ┺ | 7.00 |
| | A" Dis in Q" Ream | 100 | | | | | \perp | 00 |
| | 100 in 00 in | 100 | L | L | L | | \perp | 200 |
| | Jan Sab | | L | L | 1 | | 1 | |
| Core Cutting Work - A - 909 | 5" Dia in 9" Beam | 1.00 | 0 1.00 | 0 1.00 | 2.00 | | 2.00 No's | 2.00 |
| | 5" Dia in 6" Slab | 1.00 | 0 1.00 | 0 1.00 | | | 7.00 No's | |
| | 4" Dia in 9" Beam | 1.00 | L | | L | | \perp | |
| | | | | | | | | |